





















$$X[k] = \sum_{n \text{ even}} x[n]W_N^{kn} + \sum_{n \text{ odd}} x[n]W_N^{kn}$$

$$= \sum_{r=0}^{(N/2)^{-1}} x[2r]W_N^{2rk} + \sum_{r=0}^{(N/2)^{-1}} x[2r+1]W_N^{(2r+1)k}$$

$$= \sum_{r=0}^{(N/2)^{-1}} x[2r](W_N^2)^{rk} + W_N^k \sum_{r=0}^{(N/2)^{-1}} x[2r+1](W_N^2)^{rk}$$

$$= \sum_{r=0}^{(N/2)^{-1}} x[2r]W_{N/2}^{rk} + W_N^k \sum_{r=0}^{(N/2)^{-1}} x[2r+1]W_{N/2}^{rk}$$

$$= \underline{G[k]} + W_N^k H[k], \quad k = 0, 1, \dots, N-1$$

(only compute for $k = 0, 1, \dots, N/2 - 1$) due to the periodicity

$$W_{(2r+1)}^{(2r+1)} W_N^{rk} + W_N^k \sum_{r=0}^{(N/2)^{-1}} x[2r+1]W_{N/2}^{rk}$$

$$= \underline{G[k]} + W_N^k H[k], \quad k = 0, 1, \dots, N/2 - 1$$
) due to the periodicity

$$W_{(2r+1)}^{(2r+1)} W_N^{rk} + W_N^{rk} \sum_{r=0}^{(N/2)^{-1}} x[2r+1]W_{N/2}^{rk}$$



































